Tn Auese Puesons, i ik s Mk"“j For Hee prebobil i+'3 of & sawm ple
M ?‘n-“mj W Sewe re Glem , Lse tue fall omihj fr Yo VWAREAA.  SAL
Y Sl?nm&c\,ﬂk enyos . of the So\m\P\'\v\S A\s%ﬂ bt o .

Meor = P (populakion ‘ym[aorHon)

S*nm(‘«run}s eyt = P(‘_..E) n- smPle Siie,
n

pi .2 L W Y as'ﬁeivu} &w he FWbakll“xb af s gm?\e wmean s'-o.,“i.wﬁ w e
Sewe  yeqion, Lse e :euommg $or Yo Woowm omd fue  slomdond  Smtidiien.

exyor of te Sam\':\iu\s s ekt b
Stndod extor = & = Hamdecd doviadio of dua rc‘zw\o&\\vﬂ

—

Jn n- sm«»‘:le sile,



) Te queshion is a-s\e_\“j about Yo Sy ikeliheed of Q‘“A\“j
& sowmple preportovy € 25 = o.026

a S’O\Nﬂp\e f&\h/\.
250

To calewlale Yo 2-scove we wneed tue weom and e stendord evroc S
toe SQM\\D\\\Aﬁ AishyioukHon.

Mean = P= 006

v = 980
o ’JE.OGCFO‘OG) Se= 0-003%
9%
= 0-00F+F l )
1 L] —
0026 (.00 Semrp\e
"ﬂ«.eﬂepore 2 —Scece c&r 0-026 1S P - fm‘)vrhw
2 = G-Q‘]_Q—-O‘O% —_ —q"l'\“.
0 o732
Pt'wnog{

all te dale \ie

covdtin B sdeendard  denioMons
Thot s LE"-weeu\

Crown tue wWean.
2 = (3,3,

Tiaxelere odwmost all  Tue peseible Sam‘:’.e F’raa)a{'l-—fo-“s we  axe \ihehs o Ond
ave witin = (=3,3)

Flhovelexe  Swace 2=—4h, & s unllkely o Snd e PfoPov-l-\‘ovs 9024
W o smfl\e‘

Swee ‘e cru.e.skm s as.].l-iuﬁ T g (M\NUhAQ.f W s uw\hb-ehd:, e omlw e Is
A)  Nes it e Uv\“ke,lj) 2= = Yulyy



2) Twis GuegHen s ‘Hkmj abord e wom ol e  stamdank eoror for o

w’\e AxMuuhon of a Seurple mmhw,
P= 0-2)

= 4gp .

Yhovelore weon = P = 0-2|

stomdod  envor = joatcc—o-‘u) = 0-02
&4oo ik

 Ruvelece T ansaer s )

2) '
1) Prcorvect sSiwce e \DOFU.{Q.HO\I’ distalbwlien 1s wvot aftee ted ‘qj fne
Sa_wp\e e,

M) The somple diskiouton of R s mocvna) cm\3 for M330. Therelere

'i\r\ COWE(‘-‘% A

m) Sﬁ-\mp\e_ weorn Yas & waeans e:lv\ak e e populabon  weom P Tecebece
bvue .

Tle amswer s B)

%) T) Sexmpl Aishibation of 4 sa-mple W hage A stamdavd  deviakion

gwven by 6-  Twrelere whenw w g neveored 4o, slondond dariodton

IR

Ao cveryes, TuoxeLeve Yue s‘r-repA o % mli“‘ be ler omd lewnce X Yewds de
Pﬁ_\ c‘.oiﬁw Yo e wwean which e Hae FaPu\aHm VWALRYS -

Thovebexe Yrug .
IT) From Tue cenbal it '\'\A.O.CTGW)) e g\,\afe of e ‘_SMnF'lu\A.ﬂ dis Mibudieny
s a-?(»-rox'\mw\dj novweal L N> 30, Te‘,JMA\m of Y slr\a.‘ne of T

Po'zu\m“'ion Aiskalbuhon . Teesebwe the sampling distabution  does ve +
qw-rox'.wa,k.g tee WOPU{QHM dutibudoy, okew wn i lcw-te. Yneorvect .

Tﬂi\ 5&»&;& oo = &7 o = fC\"E)
N s
7 544«?01&
Smnp e e Hoo.
= . 4l

%ei%rre whonn n is mc-/EMetJL Se ’-}5 Aa.c:remﬁ‘ 5 Terelece {'YCQ
Teehee f2  qmsuwer is ®)



g = 2\% e
' e
p=1050 X PP -
P‘T’V-‘ﬁ-“'\m DisH bouden
2= 1035 -10%0 = 08|
20-%%

S i Wb =0R910
v Modod = 1—0-320
=§2090

®)>

N R-is o sialefie (B numcicd saws oy of @ gﬂwf’le) 5
Se 18 & =5 c\m\‘)\e PWPWRW\ )
W‘e m_

T This queskon s asking  for He wnamn ardh  tue slamdard  doviakion
e a Saw\f‘fnﬁ Vdeckiibubion of a SOM*Q"& moan ,

Vorelece vneow g = p= {050
se = 218 = 30-82 (se = %)
ALY

@) ( Gentex = wean gf'feowk = standaxd Cﬂ"-”“‘-‘l‘*ms_

8) Twis s a sawple mewo quathon | 2 Ny 30, e sample diskibuboy s novwad |

n=\00
= 9.8
\)z‘-.-.- Q68§-266 - 2 = 0% =) Cumulhve ?w\mﬁifl-): 0-3%5|
25 3
T,= 286-266 = O =) cuomulbive prolakilitsy = g5
Tevekre Y shaded a;f s O7F8sl—0'd = 0-29%| )



9} Sewpt
Ple meom ﬁ‘buuh‘av') (S\m'\\o« ¢ 8 & sovme ex&em‘l:)

Vi=\o0

TZ =228 =5 aven o re = g-993g

0%
left
Weﬁug > -
o Eo ]m %'UL Y\ﬁb‘% = |-0.-992% = 6:00c2 CC)
10) Similar to ©)
/ .hz\oo
Se= 25 =8 02
/ o T
\ ////

6% g3.¢ S

\ -2l .
> 2. ¢3-€36 =-0'C = WEBHE =7 Gvec Yo he loft — sommmme o 0082

ﬁ lo"_ﬁ

Tl He sheded owes = ISHEENEG 00T

= GEEER 0 99\3

©

I @) s vwe ,

B) Tue shope of tue Seample dishdlovkon s a‘:‘:wx'\mml-elﬂ netwnel only W n33e.
© sd&of & S&L\mg»\‘wg dxtvibwbion ol gam?ie_ weon = S | Folae.

®) Nt true. i
(A < omswer:

12)  Central Viunt  Hhoovews Sayg recarcdless ol tue S\«ofe o te F"I"""\"‘““”‘
diskionten, e swnPl'.v\j disthbudion it be  vorwal L lo\mae s.ownﬁ:\Q;

Twene feve
P, (B falce since we ove wob &smﬁoﬁolmj Yo SWFLQ S$ize

(©) We ave v cL\S"re_c)cuvz:uv\ﬁ fue S&mp\%‘s'A\$3¥§bwﬁwm S‘M\Pe False
> Pue |
Nnswer - (D)



13) Forae:\- this For the Yime \ae'iuj'.

4 . Twe quesh‘on s as\dwﬂ fov Yo wean amd Yhe standard  doviakion Qer
a Sa-m?\w\% diskribution of a S'm-ﬁ;\e_ rmfo{\-'ran- Howlnos

. Moy = F = 0%
se = Ep(\_. y =\ (-#)(0:3) = 0:0145,
’;_E lcoo

18) Sawmple wean queshion (Siwmiler de®) and (10) )

o
I
o

—

2- 98- 4-98-6 =-2 = o~xea fo tug et = 0-022%
o\

SR ol T -9
Tlexefeove axex 3o o “3\”\7 \

= 09F+2
(®)
ls) Mean = k = 5O
Se= & = 20 =9 (hu 0o . Tlevelbere tuo Sam?\lj itk rvation
Jn Jiee

\s ai:pwﬁ\mae\_g hormod)‘



